Write the amount.

Make the amounts. Use the number of notes and coins shown.

£25

£10

£10.70

£40

£21.50

£35

£7-05

Make the amounts. Use the number of notes and coins shown.

£30-25

£15-60

£25-11

OO s
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OO0
OO0
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Fill in the box.

A

One 50p coin.
One 20p coin.

p altogether.

Cola costs 59p.
Orange costs 10p less.

Orange costs p.

o

A small lolly costs 65p.
A large lolly costs 30p more.

A large lolly costs p.

Together a pencil and a rubber cost 65p.

The rubber costs 40p.

The pencil costs p.

A TV costs £399,

In a sale its price is £50 less.

It now costs £

Judy has 47p.
Jayne has 29p.

Together they have p.

Charlie has £9.
Asif has £4 more.
Asif has £

Carly has 20p.
She spends 6p.

She now has p.

Tommy has 58p.
He finds 5p.

He now has p.

Some sweets cost 30p.

| pay with 50p.

| am given p change.

| pay £1.

| am given 28p change.

| spent p.

A sandwich costs £2.45.

A roll costs £1-65.

The sandwich costs

p more.



